Cuestion 1 {10 prints) Name ley

& {5 ps) Give the coreet TUPAC name for the following molecule, You may usc commen
names for any subsiiluents.

Loathyh-$- metgl- 2E235(2) hepruditn -3 ol

k. {5 pts) Write the produets for the following resction and indicate whether the reaction favers
products or reactants, Some wseful pK.'s are shoswn below,
=
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pKa preduets ere Cavered,
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Question 2 (15 points) Nare l"-“'l

4, (10 pisy Rank the follewing compouinds 01 {most acidie) — 5 {least geidic]) in order of
decreasing acidity, increasing pK,. The acidic hyvdrogens are shown in bold.
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B, (5 pes) Squaric acid, shown below, is & very strong acid. The pk, for the removal of the first
hydrogen is 1.7, Explain using wonds and pictures, the strong acidity of the squaric acid,
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{uestion 3 (12 points) Mame ____ ]':':L'[

Birawe camplete stouctures for four different alkenes that conld be formed from the following
reaction
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Question 4 {12 points) Mame ey o

Uzing the correct curved armow formalism, show the best mechanism o the following reaction.
e sure 1o draw complete structuees for all insermediaes. Be sure to draw the correct
stereachernistry for the products. Give as much detail as possible,
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Question 5 (16 poinls) Name Lﬁﬂ'-f

Consider the following reaction.

CHA0H
— Praduct
H;S‘D_‘

2. {6 pes) Using the correct curved arrow formalism, draw the best mechanism for the reaction.
Be sure to draw complete structures for esch imtermediace.
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Cuestion 5 (continued) Mame |'(.EL:

B. (7 pte) The reaction shown above i3 exathermiz. Diraw a reaction cooedinate diagram,
laheling AGY, Tapuiee, the transition stateds). the intermediateds) if any. the reactonts and the
preducts. (IF you wonld like, you can use letters o relate structures from part a to kev
featurey om the Teaction coordinare diagram. )
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c. 3 ps) What 15 the name of the mechanism 15 the microscopic reverse of the mechanism
described i parts aand b?
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Question & {20 polmis) Name ]{t.l.l

(hve the complete structure of the major organic pricduct for the following reactions. Pul your
answer in the box provided. Be sure (o indicate stereochemisiry where appropriate.
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Question T (15 polnts) Mame ley

P'reside the missing reagents and praslusts for the following transformation, The reagencs shoald
be listed in order of use if more than one synthetie step is nocessary,
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Extra Credit (8 points) Name _ }W-i S

Uzing the correct armew [ormalism. draw the best mechanism for the formation of polyathylens
from ethylene. 17 a radical mechanism is involved, be sure to clearly indicate the initiation and
chiin propagation sieps.
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